eco
PASS

PORT. H hager

Product Environmental Profile
EVCS WITTY PLUS & PRO

Company information References covered

Hager For the complete list of the covered references, see details in Appendix.
132 Boulevard d’Europe

F 67215 Obernai Cedex

www.hagergroup.com

A question concerning the Product Environmental Profile: info@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0018-ed1.3-2025 04 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product identification Supply 1 kWh to one vehicle in accordance with the Reference use scenario for a private or semi-public AC
XVL122STI station at the charging point.

Use scenario based on :
PSR product Category : PSR-0018-ed1.3-2025 04 08 The functional unit is based on the use scenario recommended by the PCR for the category of the reference
Usage : Private/Semi-public - Power supply : AC product.

PEP ecopassport 117 HAGE-01405-V02.03-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
g % g % ] %

PC 3121.70 55.1% Copper 280.33 4.9% Cardboard 848.14 15.0%

PA6 163.22 2.9% Stainless steel 82.69 1.5% Glass fiber 207.24 3.7%

Epoxy resin 143.09 2.5% Ferrites 32.52 0.6% Wood 135.17 2.4%

ABS 73.63 1.3% Steel 25.72 0.5% iron pellet 65.60 1.2%

Silicon rubber 50.78 0.9% Cast iron 22.97 0.4% Glass 46.57 0.8%

Other 81.40 1.4% Other 107.41 1.9% Other 177.21 3.1%
;:z:-lklar;liansgs:of reference product with raw material 5665.39 g
Total mass of reference product 5406.87 g

(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Distribution

Installation

End of life Module D

Raw material extraction
and processing
Transport to the manufacturer
Manufacturing

Distribution to
the place of operation

Installation on
the place of operation

Use or application of
the product installed

Maintenance

=)
£
2 8
2 o E) =
= £ 2 29 <
S 5 D > C °
Eol =3 2 w C
sd ~ £ ° 3
t | s |23 2| & |28 |z 3
s} 8 S ® = ? © © =
= = = @ + f =i =) @ kel
T 5 © £E® E® = S ® gE‘ 8 :5
a 3 5 o o © © o o i @ 2
[9) @ 2 =) o) B o= 5 = 3 o 2
4 = 17 -1 5 3 c = = 9 = =87
5 & g2 | To ki °% | £8 e %o
[ oS 2L Q Feg 2= 55
= .
B
S £ ) T o oo
I © < o 3 S
w = = 2 >
%) a
=
S

B3 B4

Life cycle stages

Manufacturing

These products are manufactured by a site that has received an environmental certification

1SO 14001.

This phase takes into account raw materials, manufacturing processes, production offcuts

and their end-of-life treatment, upstream transport of materials and sub-assemblies to the

manufacturing site, and transport from the manufacturing site to the final logistics platform.

Distribution

The packaging has been designed in accordance with current regulations. In particular,
the European directive 94/62/CE relative to packaging and packaging waste.

The used packaging is 100% recyclable or recoverable.
Packaging and logistic flows are continuously improved in order to reduce their impact.

This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Installation

Installation processes

The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent

Active mode
Watt % of time
20.3 1.5%

Inactive mode
% of time
98.5%

Watt
0

Power consumption / not load dependent

Active Sleep phase Passive Sleep phase Turn off phase

This corresponds to a total energy consumption of 455.98 kWh for the use span of 10 years.

Energy model of the use phase :

Europe

Consumables and maintenance :

None

PEP ecopassport

Watt % of time Watt % of time Watt % of time
5.8 1.5% 4.8 12.8% 4.9 85.7%
217 HAGE-01405-V02.03-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).
The recycling potential of the product is: 17%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (I), use (U) and end of life (EoL).
An impact of 0 means that this impact represents either less than 0.01% of the total life-cycle impact of the reference stream, or no impact at all, when the global impact is zero.

All calculations are done with EIME software Version 6.3.4-11 with the database Version 2026-04-15.
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 C1-C4
Europe - Europe Europe Europe

Declared Unit

To ensure the recharging of electric vehicles or rechargeable hybrids through one or several recharging points during a reference lifetime of 10 years

Environmental impact indicators

. - Manufacturing Distribution Installation Use End Of Life

Indicators Unit | A1-A3 | Ad | A5 | B1-B7 | c1-Ca | GLOBAL
Acidification (PEF-AP) mole H+ eq. 4.72E-01 1.36E-03 2.46E-03 6.30E-01 2.93E-02 1.14E+00 -6.32E-02
Climate change - Total (PEF-GWP) kg CO2 eq. 9.96E+01 8.74E-01 2.03E+00 1.07E+02 9.11E+00 2.18E+02 -5.15E+00
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -3.44E-01 1.44E-03 1.24E+00 4.16E+00 2.27E-01 5.29E+00 -2.62E-02
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 9.99E+01 8.72E-01 7.90E-01 1.02E+02 8.88E+00 2.13E+02 -5.13E+00
SIEDCEEAN A ENEEGER | 1qEeae, 3.01E-03 1.32E-06 7.78E-09 3.57E-06 3.43E-08 3.01E-03 0.00E+00
(PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) 5.37E+03 2.50E+01 1.16E+01 2.08E+02 9.41E+01 5.71E+03 -1.69E+01
EF-particulate Matter (PEF-PM) ; 2.88E-06 1.17E-08 1.44E-08 5.50E-06 2.45E-07 8.66E-06 -2.90E-07
Eutrophication, freshwater (PEF-Epf) 6.23E-04 3.26E-06 1.14E-05 4.86E-04 6.64E-05 1.19E-03 -5.89E-03
Eutrophication, marine (PEF-Epm) 5.41E-02 2.48E-04 1.05E-03 6.34E-02 9.26E-03 1.28E-01 -3.71E-03
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 6.14E-01 2.73E-03 7.58E-03 1.23E+00 6.29E-02 1.91E+00 -4.70E-02
Human toxicity, cancer (PEF-CTUh-c) CTUh 1.73E-06 1.69E-10 9.10E-08 1.43E-07 7.51E-07 2.71E-06 -9.76E-09
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 2.83E-06 3.23E-09 2.49E-09 4.76E-07 1.64E-07 3.48E-06 -6.95E-07
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 4.26E+01 3.06E-02 1.26E-01 2.57E+02 2.25E-01 3.00E+02 -4.39E-02
Land use (PEF-LU) No dimension 2.01E+01 5.76E-03 7.71E-02 1.70E+02 7.84E+00 1.98E+02 -3.12E+02
Ozone depletion (PEF-ODP) kg CFC-11 eq. 1.20E-05 1.02E-08 1.22E-08 1.01E-06 4.91E-07 1.35E-05 -9.68E-08
Photochemical ozone formation - human health E-02
(PEF-POCP) kg of NMVOC eq. 1.83E-01 8.81E-04 1.72E-03 2.04E-01 1.75E-02 4.07E-01 -1.33E-0
Resource use, fossils (PEF-ADPf) MJ 1.32E+03 1.55E+01 8.06E+00 3.39E+03 6.10E+01 4.80E+03 -1.48E+01
Resource use, minerals and metals (PEF- K 16E-07 1 E-07 E-04 2 59E 2.33E-02 1.71E-04
ADPe) g Sb eq 2.29E-02 3.16E-0 .88E-0 3.80E-0. .59E-05 .33E- -1.71E-
Water use (PEF-WU) m3 eq. 3.10E+01 3.21E-02 6.87E-02 6.74E+00 6.33E+02 6.71E+02 -6.09E+02
Resource use indicators

N Manufacturing Distribution Installation Use End Of Life

Indicators A1-A3 A4 AS B1-B7 c1-Cc4 GLOBAL
Net use of fresh water 7.23E-01 7.47E-04 5.44E-03 1.63E-01 1.76E+01 1.84E+01 -1.48E+01
Total primary energy 1.53E+03 1.56E+01 9.75E+00 5.63E+03 6.46E+01 7.25E+03 -6.09E+01
Total non renewable primary energy 1.32E+03 1.55E+01 8.06E+00 3.39E+03 6.10E+01 4.80E+03 -1.48E+01
Total renewable primary energy 2.05E+02 6.33E-02 1.69E+00 2.24E+03 3.59E+00 2.45E+03 -4.61E+01
Non renewable primary energy used as energy 1.19E+03 1.55E+01 8.06E+00 3.39E+03 6.10E+01 4.67E+03 -1.48E+01
o N T (] G e 1.30E+02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.30E+02 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 1.87E+02 6.33E-02 1.69E+00 2.24E+03 3.59E+00 2.43E+03 -4.61E+01
Renewable primary energy used as raw material 1.82E+01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.82E+01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 6.15E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 6.15E-03 0.00E+00

PEP ecopassport 317 HAGE-01405-V02.03-EN



Waste category indicators

Indicators
Hazardous waste disposed
Non hazardous waste disposed

Radioactive waste disposed

Output flow indicators

Indicators

Components for re-use
Exported energy
Materials for energy recovery

Materials for recycling

Manufacturing

Distribution

Installation

End Of Life

GLOBAL

A1-A3 A4 A5 B1-B7 C1-C4
2.91E+02 3.68E-03 4.70E-02 6.14E+00 1.01E+00 2.98E+02 0.00E+00
2.41E+01 8.11E-02 2.34E-01 1.88E+01 1.48E-02 4.33E+01 0.00E+00
7.70E-03 6.42E-05 5.35E-05 4.84E-03 6.38E-06 1.27E-02 0.00E+00

facturin: istributi i i

Man;l\1 o [¢] Dlstr:‘utlon Inst::\ll:tlon o1 o7 Engﬁ::l‘;lfe GLOBAL

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
6.19E-02 0.00E+00 6.93E-02 0.00E+00 1.26E-03 1.32E-01 0.00E+00
2.28E-01 1.48E-10 6.23E-01 1.22E-05 1.15E-02 8.63E-01 0.00E+00

Functional unit: Environmental impact indicators
Impacts presented below are expressed per kWh corresponding to Functional Unit.

Indicators

Acidification (PEF-AP)
Climate change - Total (PEF-GWP)

Climate change-Biogenic (PEF-GWPb)

Climate change-Fossil (PEF-GWPf)

Climate change-Land use and land use change
(PEF-GWPIu)

Ecotoxicity, freshwater (PEF-CTUe)
EF-particulate Matter (PEF-PM)
Eutrophication, freshwater (PEF-Epf)
Eutrophication, marine (PEF-Epm)
Eutrophication, terrestrial (PEF-Ept)
Human toxicity, cancer (PEF-CTUh-c)

Human toxicity, n ancer (PEF-CTUh-nc)

lonising radiation, human health (PEF-IR)
Land use (PEF-LU)
Ozone depletion (PEF-ODP)

Photochemical ozone formation - human health
(PEF-POCP)

Resource use, fossils (PEF-ADPf)

Resource use, minerals and metals (PEF-
ADPe)

Water use (PEF-WU)

Functional unit: Resource use indicators

Indicators

Net use of fresh water

Total primary energy

Total non renewable primary energy

Total renewable primary energy

Non renewable primary energy used as energy

Non renewable primary energy used as raw
material

Use of non renewable secondary fuels

Renewable primary energy used as energy

Renewable primary energy used as raw material

Use of renewable secondary fuels

Use of secondary material

Functional unit: Waste indicators

Unit
mole H+ eq.
kg CO2 eq.

kg CO2 eq.
kg CO2 eq.
kg CO2 eq.

CTUe

kg N eq.
mole of N eq.
CTUh

CTUh

kg Bq U235 eq.
No dimension

kg CFC-11 eq.
kg of NMVOC eq.
MJ

kg Sb eq

m3 eq.

Impacts presented below are expressed per kWh corresponding to Functional Unit.

Below impacts are obtained by multiplying Declared Unit impact by 3.5397E-05
Manufacturing Distribution Installation Use End Of Life
A1-A3 | A4 | A5 | B1-B7 | C1-C4 | (EILEIAL
1.67E-05 4.83E-08 8.71E-08 2.23E-05 1.04E-06 4.02E-05 -2.24E-06
3.52E-03 3.09E-05 7.18E-05 3.77E-03 3.22E-04 7.72E-03 -1.82E-04
-1.22E-05 5.09E-08 4.38E-05 1.47E-04 8.03E-06 1.87E-04 -9.26E-07
3.54E-03 3.09E-05 2.80E-05 3.63E-03 3.14E-04 7.54E-03 -1.81E-04
1.07E-07 4.68E-11 2.75E-13 1.26E-10 1.21E-12 1.07E-07 0.00E+00
1.90E-01 8.85E-04 4.10E-04 7.38E-03 3.33E-03 2.02E-01 -5.97E-04
1.02E-10 4.16E-13 5.10E-13 1.95E-10 8.67E-12 3.06E-10 -1.03E-11
2.21E-08 1.15E-10 4.04E-10 1.72E-08 2.35E-09 4.21E-08 -2.09E-07
1.91E-06 8.79E-09 3.70E-08 2.24E-06 3.28E-07 4.53E-06 -1.31E-07
2.17E-05 9.66E-08 2.68E-07 4.34E-05 2.23E-06 6.78E-05 -1.66E-06
6.11E-11 5.99E-15 3.22E-12 5.04E-12 2.66E-11 9.60E-11 -3.46E-13
1.00E-10 1.14E-13 8.80E-14 1.69E-11 5.79E-12 1.23E-10 -2.46E-11
1.51E-03 1.08E-06 4.46E-06 9.10E-03 7.95E-06 1.06E-02 -1.55E-06
7.12E-04 2.04E-07 2.73E-06 6.02E-03 2.77E-04 7.01E-03 -1.10E-02
4.24E-10 3.60E-13 4.31E-13 3.57E-11 1.74E-11 4.77E-10 -3.43E-12
6.47E-06 3.12E-08 6.08E-08 7.23E-06 6.18E-07 1.44E-05 -4.72E-07
4.69E-02 5.49E-04 2.85E-04 1.20E-01 2.16E-03 1.70E-01 -5.23E-04
8.09E-07 1.12E-11 6.65E-12 1.35E-08 9.16E-10 8.23E-07 -6.05E-09
1.10E-03 1.13E-06 2.43E-06 2.39E-04 2.24E-02 2.38E-02 -2.16E-02
Below impacts are obtained by multiplying Declared Unit impact by 3.5397E-05
Manufacturing Distribution Installation Use End Of Life
A1-A3 A4 A5 B1-B7 C1-C4 CLOESE
2.56E-05 2.64E-08 1.93E-07 5.77E-06 6.21E-04 6.53E-04 -5.23E-04
5.41E-02 5.51E-04 3.45E-04 1.99E-01 2.29E-03 2.57E-01 -2.15E-03
4.69E-02 5.49E-04 2.85E-04 1.20E-01 2.16E-03 1.70E-01 -5.23E-04
7.27E-03 2.24E-06 5.98E-05 7.93E-02 1.27E-04 8.67E-02 -1.63E-03
4.23E-02 5.49E-04 2.85E-04 1.20E-01 2.16E-03 1.65E-01 -5.23E-04
4.60E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.60E-03 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
6.63E-03 2.24E-06 5.98E-05 7.93E-02 1.27E-04 8.61E-02 -1.63E-03
6.46E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 6.46E-04 0.00E+00
0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
2.18E-07 0.00E+00 0.00E+00 0.00E+00 0.00E+00 2.18E-07 0.00E+00

Impacts presented below are expressed per kWh corresponding to Functional Unit.

Indicators

Hazardous waste disposed

Non hazardous waste disposed

Radioactive waste disposed

PEP ecopassport

Below impacts are obtained by multiplying Declared Unit impact by

3.5397E-05

Manufacturin Distribution Installation Use End Of Life
A1-A3 . A4 A5 B1-B7 C1-C4 CLOESE
1.03E-02 1.30E-07 1.66E-06 2.17E-04 3.59E-05 1.06E-02 0.00E+00
8.55E-04 2.87E-06 8.30E-06 6.66E-04 5.23E-07 1.53E-03 0.00E+00
2.73E-07 2.27E-09 1.89E-09 1.71E-07 2.26E-10 4.48E-07 0.00E+00

417

HAGE-01405-V02.03-EN




Functional unit: Output flows indicators
Impacts presented below are expressed per kWh corresponding to Functional Unit. Below impacts are obtained by multiplying Declared Unit impact by
Manufacturing Distribution Installation Use End Of Life GLOBAL
A1-A3 A4 A5 B1-B7 C1-C4

3.5397E-05

Indicators

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Materials for energy recovery 2.19E-06 0.00E+00 2.45E-06 0.00E+00 4.46E-08 4.69E-06 0.00E+00
Materials for recycling 8.09E-06 5.24E-15 2.20E-05 4.32E-10 4.06E-07 3.05E-05 0.00E+00

Biogenic carbon content

Packaging GLOBAL

Biogenic carbon content (Declared Unit) 4.31E-01

Biogenic carbon content (Functional Unit) 1.52E-05

Product GLOBAL

Biogenic carbon content (Declared Unit) 0.00E+00

Biogenic carbon content (Functional Unit) 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

_ . Drafting Rules PEP-PCR-ed4-2021 09 06
Registration N°:  HAGE-01405-V02.03-EN

Supplemented by PSR-0018-ed1.3-2025 04 08
Verifier accreditation N°:  VH65 Information and reference documents: www.pep-ecopassport.org
Date of issue: 3-2026 Validity period: 5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006
Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)
PEPSs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics
change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

, real values for a product in a concrete application may therefore

PEP ecopassport 5/7 HAGE-01405-V02.03-EN



Appendix

Impacts presented below are expressed per kWh corresponding to Functional Unit.

ication (PEF-AP) - [mole H+ eq]

Climate change - Total (PEF-GWP) - [kg CO2 eq.]

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]

Climate change-Fossil (PEF-GWPS) - [kg CO2 eq.]

ange (PEF-GWPIu) - [kg CO2 eq.]

®
H
3
El
S
o
2
&
P
8
3
°
2
5
<
b
)
2
5
g
5
2
©
5]

Components for re-use - [kg]

Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]

Eutrophication, freshwater (PEF-Epf) - [kg P eq.]

e (PEF-Epm) - [kg N eq.]

Eutrophication, maril

Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]

Exported energy - [MJ]

Hazardous waste disposed - [kg]

Human toxicity, cancer (PEF-CTUh-c) - [CTUh]

Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]

lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]

Land use (PEF-LU)

Materials for energy recovery - [kg]

Materials for recycling - [kg]

Net use of fresh water - [m3]

Non hazardous waste disposed - [kg]

Below impacts are obtained by multiplying Declared Unit impact by

Non renewable primary energy used as energy - [MJ]

Non renewable primary energy used as raw material - [MJ]

Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]

EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC
eq]

Radioactive waste disposed - [kg]

Renewable primary energy used as energy - [MJ]

Renewable primary energy used as raw material - [MJ]

Resource use, fossils (PEF-ADPS) - [MJ]

Resource use, minerals and metals (PEF-ADPe) - [kg Sb eq]

Total non renewable primary energy - [MJ]

Total primary energy - [MJ]

Total renewable primary energy - [MJ]

3.5397E-05

Use of non renewable secondary fuels - [MJ]

Use of renewable secondary fuels - [MJ]

Use of secondary material - [kg]

Water use (PEF-WU) - [m3 eq.]

22 xvzzst [ R N e e T T T N T e e
£ 1
f=
< | | | swe] swen] o] s soee] ] sser| o] s so] o] sma] s soese| sm] smen| o soeae] o] sser| oser] roese] sse| ] o] soeae| smer| soea] smen] ruer] oweo] suen] suen] s
asce] o] asae| amece| amen] o] o] smer] se] smen| o] vosea] sue] o] s smese] smese] s o] o] soeae] o] sme] soer] soese] o] soes] o] zoeae] oser| soea] suen] soer] o] sue] sue] zueo
:
55 | seor] o] swea snes] oo sneo| sses| ssor] soeor] owea] soeo| swen] suer] smei| sm] sveo] o] sriea| voncs] sons] awea] e vous] sweor] sue| swno oueon] smen| ssrer suro] sows| sweo| owens] o] sseon] suea
w

PEP ecopassport

6/7

HAG

E-01405-V02.0:

3-EN



XVL1228TI 220608| asze0a| azseor| aseos| oooeeoo| ovoevoo| sores| 2oseor| asieor| eseos| oooesoo| ocoeeoo| sasers| 2asei| asseos| t10e02) oooesoo| ocoeeoo| szseos| oocevoo| szseos| oooevoo| saser| rosen| arzeor| oooevoo| reseos| oooevon| szse0s| soseos| szseos| 21se0s| reseos| oooevon| ooovoo| nooeroo| 2tece

XVL122C aereor| arseon] ssieor] rseor] ooeoo] ooveioo| 2aseon] ssseoe] rssece] asieor] ooveoo] ooeoo] ssea] o] zseos] 1ie0e] oooeroo] ooero] 277ei] oooeroo] asseor] oooeroo] 2ssez] rsserz] 27eor] oooeroo tsieas| ooeron| asseor| 2a0e0| arseos] 20se0s) -roseos] oooeron] ooeron) oooenn) -ivee]

QAN PIOIOIOI =N os7cor| 1socos| eseeor| asreon| oovesco| oooeeoo| 2s0e0a| asoeos| zreos| osseor| oooevoo] oooesoo| tssers| osoerz| -1z2e08| 10e02| oooero) oooeroo] 272e0s| ocomioo| sseeos| oocevoo| 272ez| 7aseqz| 2eveor| ocoesoo| -vsoes| ocoevoo| sseeos| 2soeos| ssseos]| -roveos| -tsoeas| ocoevonf oooevoo| oooevon| -1ose02]

XVL122CCH aereor| arseoa] ssieor] rseos] ooeoo] ooveioo| aseon] ssseoe] rssece] asieor] ooveoo] ooveo| ssea] o] zseos] 1iece] ooveroo] ooveroo| 277ei] oooeroo] asseos] oooeroo] 2sserz] sserz] 27eor] oooeroo] tsieos| ooeron| asseor| 2a0e0| arseos] 20se0s) -roieos] ooeron] ooeron) oooenn) -ivee]

XVL122CFL qaoe0s| as0e0s| aoaeor| vsseos| oooeeoo| ovoevoo| soveos| azseor| asseos| 208 oooesoo| ocoeeoo| 277es| vaser| vaseos| se02] oooesoo| ocoeeoo| ssreos| oocevoo| si0eos| oooevo| astera| assere| seoeor| oocevoo| 171E0s| oooevon| sioe0s| sezeos| sroos| 2z2608| 171E0s| oooevon| oooevoo| wooeroo| rs7Ece

XVL122CLM os7e07| arseos| esieor| 7seor| oooeoo| oooeeoo| 2sseos| sisecs| 7sseos| osieor| oooesoo| ocoeeoo| resers| oseeqz| azse0s| 11E0e| cooesoo| ocoeeoo| 277E04| ooceeoo| ateeoa| ooovoo| 2ssere| 7esere| 2e7ecr| oooeoo| 1oeas| oooevon| atse0s| 2ss0o| aveos| 20ses| teweos| oooevon| oooevon| oooeeno| r0ec2

XVL122CPI ssocor| aseos| asseor| 7seos| oooeeoo| oooevoo| 2secos| arseos| 7s7E0s| esseor| oooesoo| ocoeeoo| rsees| essez| azee0s| a11E02] oooesoo| ocoeeoo| 2soe0s| oocevoo| szeos| oooero| 2otEr2| aooere| 2eseor| oooevoo| 1sseos| oooevon| azieos] 2sseos| azieos| 20se0s| 1escos| oocoevon| ooovoo| wooeroo| -rrzee

XVL122S 22ie00] asoeoa] ozseor] ameos] ooeo] ooveoo| soren] 200e0r| aveor] eseos] ooveo] oovesoo| adsera] 2dseia] sseos] t10e0e] oooeoo] oooeo] szseor] oooeroo] szsen] oooeroo] asez] roserr] azeeor] oooeroo) 1sseos| ooeron| szseor| soseon| szseor| 2150 rsseos] oooeron] ooernn| oooeinn) -2usee]

XVL122SCCE3 220608| asze0a| azseor| seos| oooeeoo| ovoevoo| sores| 2oseor| asieor| eseos| oooesoo| osoeeoo| sasers| 2asei| asseos| 10e02] oooesoo| ocoeeoo| szseos| oocevoo| szseos| oooevoo| susere| rosen| araeor| oooevoo| reseos| oooevon| szseos| soseos| szseos| 21se0s| reseos| oooevon| oooevoo| nooero| 2iece

XVL122SCH 221606| aso£04| o26e07| mieos| oooeoo| oooeeoo| soreos| 200e07| asreor| veseos| oooesoo| ovoeeoo| sseets| 2aeei| asseos| 10e0e cooeeoo| ocoeeoo| szseos| ooceoo| saseod| oooevoo| assere| roseni| 47ee0r| oooeeoo| 1eseos| oooevon| sase0s| soseoo| saseos| 21se0s| reseos| oooevon| ooovon| wooeeno| 2tsec2

XVL122SFL 267608| -19760a| -108e08| -196e04] oo0ee00] oooeeoo] 7rseos| 2soecr| rsseor| -rosecs| oooevo| ocoeso| asoes| 2ssear] a7se0s| a1se2| oovevoo| covevoo| esses| oooevo| si7E0s| ocoesoo] asiere] arreni| seseor| oovevon| r7re0s| ooveroo| sarecs| 2se00| s17E0s| 23se0s] 171E0s| oooeroo| oooevoo| oovevoo| 26260z

XVL122SLM 221606| aso£04| 026e07| -miess| oooe-oo| oooeeoo| sores| 200e07| asreor| -veseos| oooesoo| ocoeeoo| sseets| 2aeei| asseos| 10e0e cooeeoo| ocoeeoo| szseos| ooceoo| szseod| ooosvoo| assere| roseni| 47ee0r| oooeeoo| teseas| oooevon| sase0s| soseoo| saseos| 21se0s| -teseos| oooevon| ooovon| wooeeno| 21sec2

XVL122SPI 220608| 18se0a| s34507| 1s2e0a] oooeeoo] oooeeoo| sseeoa| zoseor| aszeor| re7ecs| oovevo| ocoesoo| sases| 2asea1]| asreos| ariece| oovevoo| covevoo| s2ses| oooeso| szse04| ocoesoo] sasere] oser1| azser| oovevoo| -1ssecs| oovevoo| szse0s| soseos| szee04] 216805 1eseos| oooeroo| oooevoo| oovevoo| 2a7E0z]

PEP ecopassport 717 HAGE-01405-V02.03-EN



